50. In the right triangle below, the measure of ZC is 90°,
AB = 5 units, and CB = 2 units. What is tan B ?

A
F. V21
2
3
G. 3
g V2l 5
© 75
3
J.g
2
K'S C 2 B



52. In AABD, shown below, C is on BD, the length of AD
is 6 inches, and sin d = 0.8. How many inches long is
CD?

A

B C ? D

00 O\ 00 N

Tl
O-lkur—r—\
o)

nnot be determined from the given information



38. For right triangle AKLM below, what is sin ZM ?

10
F. D
12
10

V44
10

10

= Q@

e
858



25. Which of the following trigonometric equations is
valid for the side measurement x inches, diagonal mea-
surement y inches, and angle measurement w° in the
rectangle shown below?

J X
WO
A. cosw® =%
y
B. cotw®°=2
y
C. secw®°==%
y
D. sinw°=2%
y
E. tanw° =2
y



Use the following information to answer
questions 29-32.

The youth center has installed a swimming pool on level
ground. The pool is a right circular cylinder with a diameter
of 24 feet and a height of 6 feet. A diagram of the pool and
its entry ladder is shown below.

29.

30.

ladder

To the nearest cubic foot, what is the volume of water
that will be in the pool when it is filled with water to a
depth of 5 feet?

(Note: The volume of a cylinder is given by mr’h,
where r is the radius and £ is the height.)

A. 942
B. 1,885
C. 2,262
D. 9,047
E. 11,310

A plastic cover is made for the pool. The cover will
rest on the top of the pool and will include a
wedge-shaped flap that forms a 45° angle at the center
of the cover, as shown in the figure below. A zipper
will go along 1 side of the wedge-shaped flap and
around the arc. Which of the following is closest to the
length, in feet, of the zipper?

a

17
22

29
57

RemQ
IN

31

32.

Two hoses are used to fill the pool. Twice as many gal-
lons of water per minute flow through one of the hoses
as through the other. Both hoses had been on for
12 hours and had filled the pool to the 4-foot mark
when the hose with the faster flow stopped working.
The hose with the slower flow then finished filling the
pool to the 5-foot mark. Which of the following graphs
shows the relationship between the time spent filling
the pool and the height of the water in the pool?

A.

height
of water
(in feet)

N

time (in hours)

=
height
of water
(in feet)

time (in hours)

(@]
height
of water
(in feet)
Y

time (in hours) .

=]
height
of water
(in feet)
4

time (in hours) .

=
height
of water
(in feet)
/

time (in hours)

The directions for assembling the pool state that the
ladder should be placed at an angle of 75° relative to
level ground. Which of the following expressions
involving tangent gives the distance, in feet, that the
bottom of the ladder should be placed away from the
bottom edge of the pool in order to comply with the
directions?

6
F. tan 75°
tan 75°
G. 3
1
H. 6 tan 75°
6 tan 75°

K. tan(6-75°)




22. The dimensions of the right triangle shown below are
given in feet. What is sin 0 ?

a
Fo Z e

a
G- C C b
H 2

C

" [
Jo Z a

7~
Qo



42. According to the measurements given in the figure
below, which of the following expressions gives the
distance, in miles, from the boat to the dock?

F. 30 tan 52° boat

G. 30 cos 52°

H. 30 sin 52° /\
J 30 30 miles
" cos52° \/ lighthouse
30

sin 52°
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30. The radius of the base of the right circular cone shown
below is 5 inches, and the height of the cone is
7 inches. Solving which of the following equations
gives the measure, 0, of the angle formed by a slant
height of the cone and a radius?

F. tanﬂzg
G. tanez%
H. sin =2
J. sinez%
K. cosez%
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53. In the right triangle below, 0 < b < a. One of the

angle measures in the triangle is tan‘l( 2). What is

s (3] ”

a
A. 3
a b

B. 2

" a
C a a2+b2

b
D.
\Va* + b*

E @t + b’




